1 | 2 | 3 4 5 | 7 8 9 10 11 | 12
|
——M8 NUT & WASHERS UNDER PLATE
TYP. 4 POSITIONS. A
300mm (ENCLOSURE) 800mm (ENCLOSURE)
13mn NOM.
= HEX HEAD FIXINGS TO BE USED
| //_TO FIX BRACKETS TO BACKPLATE
' = H @—/C TEST TERMINAL BLOCK
FUSES — 4 OFF
B
M8 x 150 ALLTHREAD — 6 OFF
s r-— | i | rm— -
o P P Vo P
: z v || 1B B
e © -t +—t m— +—+ CHASSIS FIXING
3| & K e O O —
o § DIST. COPPERS — 3 OFF. b | Lo = e TEST TERMINAL SRBP
o | [e——4 £ o [&) o HEenRECREE)
o | E——f & (a) 00 00 00! IC M8 x 120 ALLTHREAD — 4 OFF
=" © Im) _ J: - t
i - o | SUPPORT BRACKETS — 2 OFF oo oo C
& 1 i CHASSIS FIXING
Q LINK COPPERS — 3 OFF
|
____Jl 11 i o ‘ul 0 _.L_‘ﬂ‘ i | | | ——CURRENT TRANSFORMERS
- ) — ) CT SUPPORT SRBP — 4 OFF T | T e e | Eat R e Tt e
| (- B E R E RRE M8 x 120 NYLON ALLTHREAD — 10 OFF -
L H H a E N o H H
—#, 5 o i i g
HASP ASSY. DRILL & FIT 8 q
DOOR & ENCLOSURE To = | CT SUPPORT BRACKET — 4 OFF | —
| LINE UP 26.0 HOLES i co oo co D
ol SUPPORT SRBPS — 2 OFF o oY) FaYe) FaYe) o0
-- POSITION SRBP SUPPORTS TO @ o °° °° °° 10 CHASSIS FIXING
SUIT 8140 C.Ts CENTRALLY INC. COPPERS — 3 OFF == == == ==
ABOUT LINK COPPERS. | e} Ke Ke M16 FIXINGS TOP & BOTTOM
— M12 EARTH STUD F=F F=F =+ =+ -1
1 1 1 1 1 1 1 1
BACKPLATE INSULATOR Lol Lo Lol Lol
1
I (5]
| a5 LUGS NOT SUPPLIED WITH UNIT.
8|2 + # 3
— O
~-——SRBP GLAND PLATE
237.5 50.0 I
+ - +
575.0 + F
- ¢ UO). CUSTOMER
3| gl e © INFORMATION
U COPY L
~ /— 87.2 — 10 OFF. .4,_
Ql o |
slal 2 ¥ + +
©
M
f G
50.0
337.5 REv: | A [ B [ ¢ [ b [ E [ F T & [ A T J_] [ [
EDR: | 3427 | 3653 [ 3737 | 3811 | 3919 | 5659 | 5674 | 5738 | 6503 | | |
UNLESS OTHERWISE STATED:— MATERIAL — SIZE
NOTES 420.0 ALL DIMENSIONS IN MM. |
1) TAILS TO METERING FUSES TO BE LONG ENOUGH TO REACH TO EITHER SIDE OF CT LINKS. TOLERANCES TO H30052 — e
FIXING STANDARD TO H30051 .
2) CT LINKS TO BE SLEEVED IN THE APPROPRIATE PHASE COLOUR. BASE DRILLING WIRING STANDARD. TO_ H20051 S030097 ISSUED
3) CABLING TO FUSEHOLDER TO ENTER BOTTOM OF CARRIERS. WELDING STANDARD TO QAI 61. _E‘
4) FUSES TO BE 'NS’ (F1) PATTERN, NEUTRAL LINK TO BE 'SS’ (E1) PATTERN. 50 NOT SCALE THIS DRAWING. QRIGNAL .5 B ||_ A K ||_ E Y
5) INSET PANEL TO BE MOUNTED TO THE TOP RIGHT OF THE ENCLOSURE. IF_IN_DoUBT, ASK AT o 03/15| ELECTRICS LIMITED
6) TEST TERMINAL BLOCK TO BE MOUNTED CENTRALLY IN INSET PANEL CUTOUT. GENERAL ASSEMBLY [ TR —sonl H
" B.JONES '
THIS DRAWING IS THE PROPERTY AND COPYRIGHT OF BLAKLEY ELECTRICS AND MUST NOT, WITHOUT CTC/8OO/I—R CHKD- A7 ll 9 O 2 7 O J
THEIR WRITTEN CONSENT, BE PASSED ON, COPIED, OR USED FOR ANY OTHER PURPOSE. APPD.
SHEET 1 oF 1
A2
1 2 3 4 5 L L | | [ | 8 | 9 | 10 | 11 |12



